RERIAUN

B B - $ 0044055308 BBEFH ) —{EEER
JE 2 K 4 il B’ th [ii] GR HDCP NET wE
Bl A B 44| 46 90 | 19.2 | 70.8 [BRIREXTEES
2B EZ X— 40 38 78 7.2 | 70.8 |FHERDES

3 EKR AR 41 42 83 | 12.0 | 7.0 | FHERBHFS

4 JH AR 51 43 94 | 22.8 | 71.2 Em%F

5 |JIE 4K 37 44 81 9.6 | 71.4 \E&H

6 |ZO8 M= 44 37 81 9.6 | 71.4 \E&H

1 |BE EB 48 49 97 | 25.2 | 71.8 \E&mE

8 ;AKX FREA 41 43 84 | 120 | 72.0 Em%F

9 |XKEFE XHH 42 42 84 | 120 | 72.0 Em%Z

10 |FE XE 39 50 89 | 16.8 | 72.2 [RRRERTHFSH

15 e =& 44 43 87 | 14.4 | 72.6 HEm%Z

20 HE & 49 42 91 18.0 | 73.0 |[RRIREBERTHBIFH

25 |dk#t EE 47 48 95 | 21.6 | 73.4 HEm%H

30 |AAH BT 47 47 94 | 20.4 | 73.6 [RRRENTHFSH

3B L BE 43 47 90 | 15.6 | 74.4 Em%F

40 |dblh BEE 46 43 89 | 14.4 | 746 [BRRERTHFSH

45 At B A 45 48 93 | 18.0 | 75.0 HEm%F

50 Ht FE 46 46 92 | 16.8 | 75.2 [RRREERTHFSH

5 Bl Bz 52 45 97 | 21.6 | 75.4 Em%H

60 Ak BK 51 45 96 | 20.4 | 75.6 RRRENTHFS

65 &R &7 43 47 90 | 14.4 | 75.6 HEm%F

70 |#HE i 47 47 94 | 18.0 | 76.0 BRRREERTHFSH

5 ELE FT 56 55 m 34.8 | 76.2 Em%E

80 |XHE =W 46 45 91 14.4 | 76.6 |[RRRERTHBEFH

85 |HIl E— 45 39 84 7.2 | 76.8 |E&MAE

90 |/HE M 42 40 82 4.8 | 71.2 |[BRREBERTHBFH

9% |#8H == 44 49 93 | 15.6 | 7.4 Em%H

100 (LA FFE 53 47 100 | 21.6 | 78.4 RRIREERTHBFH

105 | &H#H &= 50 55 105 | 26.4 | 78.6 |BEfMm%

110 | B 49 42 91 | 12.0 | 79.0 [BRRERTIBES

115 |\ K% E= 50 50 100 | 20.4 | 79.6 |BEfMm%

120 | T &EX 45 46 91 10.8 | 80.2 |BRREBERTHBIFH

125 |@EF ES 50 50 100 | 19.2 | 80.8 |BEfm%

130 |F1H #H#E 48 59 107 | 25.2 | 81.8 RRIREERTHBHFH

135 Il EfK 61 58 119 | 36.0 | 83.0 Mm%

140 \FHFIL =F 52 48 100 | 15.6 | 84.4 RRIREERTHBHFH

145 |Zmm EE 54 | 64 118 | 31.2 | 86.8 Bm%E

150 (&)1 &Ly 60 | 74 134 | 36.0 | 98.0 BRIREERTIBHSH

BRAE WARYT  BERIBELN: FREERL
fELA-h: ®:1-3-5-6-8-9 #:1-3-4-5-6-8




